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�?�   <�� ����  !��<�� 
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������ (�
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C&��B 

 

3.1 ����������������������   
 

     �������	#��B���B��&������!����D>�$��
	>�� ��$>
C&��B 
  &������  �������	�(��� ��>�	�9�:�
&'����
��	�

����
������
�����=��
&E 
�
����������#��#�>��������@ ��8�B�=����������� ��	! �"�#�$�C �!�>  &F$$��� 	���  ���G����  
��<��  !���$��    � 	���(�������
��	�=�B���   224 ���
��	�    
  ��D>�$��
	>�� #�
 ���
��	�

����
������
�����=��
&E �
����������#��#�>
��������@=D� ��8�B�=�������� ��	! �"�#�$�  C �!�>  &F$$��� 	���  ���G����  ��<��  !���$��  
� 	�������	C �#� 
��
��D#���������
��	�
&'�������<�
���
8��
$
�!���
�������������	#��B���B  
A9��&���
� ��	 ��������� �������JK�	������� �������JK�	�D#���� !��#������
� ���=�B���  500 
#� !�>�

�
&'� 2 ��D>� #�
 

��D>�$��
	>��=�� 1   �(���� 100 #� 
&'���D>�$��
	>��=������������
#����;

�#;&���
�
����(���� � 	�����G�����D>�
	>���>�	  ��D>�$��
	>��=�������<�B�$
���B��
�?�<�
������
������������
��	�  �������JK�	�������  !���������JK�	�D#����  

��D>�$��
	>��=�� 2   �(���� 400 #�  
&'���D>�$��
	>��=������������
#����;

�#;&���
�
���	��	�� �9�:��� ��!��
&��	�
=�	��� ���������������������
��	�

����
�
�����
�����  � 	�����G�����D>���D>�$��
	>��!�����	<�B�$
�  &���
� ��	 ��������� �������
JK�	������� �������JK�	�D#���� !��#������
�  � 	��<�B�$
� ��$>
C&��B 
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     <�B�=�� 1 �(��� ��D>�$��
	>��=��������������	  C �!�> ��������� �������JK�	
������� �������JK�	�D#���� !��#������
�  � 	�����= �
�#��B���BC ������D>�$��
	>���(���� 400 
#�  �������	C ��(��� <�� <
���D>�$��
	>�� ��	
�$���>�� 1 : 20   A9�����������	#��B���B��=�B���  20 
<�
#(����  ��D>�$��
	>���9����(���� 400 #� 
&'�C&$��<�� ��D>�$��
	>��=��
�������(��������
����	=����
#����;<�
��� ��	�&�!������
����B�#�
<�� ��D>�$��
	>��#����
	�>��
�$���>�� 20 $>
 1 
$��!&� ( �����:P; �������	 ,2542)  
       <�B�=�� 2 !�>�<�� <
����
��	�

����
������
�������8�B�=�������� 
��	! �"�#�$�

�
&'� 3 <��   C �!�> ���
��	�<�� ��@>   ���
��	�<�� ����   !�����
��	�
<�� 
�?�      
        <�B�=�� 3 �(��� ��<�� <
���D>�$��
	>�������
��	�!$>��<��   C � ��	
��G����
&��	�
=�	��� �>������>��<�� <
�&���������<�� <
���D>�$��
	>��=��$�
���� ����B 
 
���� ��� 10   <�� &������!����D>�$��
	>��!�>�$��������  (��>�	
&'����
��	�) 
 

�� "��
 #��
$� 
���� �������($� 
����) ������������ ($� 
����) 

�'����� 
 

��@> 
���� 

�?� 

13 
22 
33 

4 
6 
5                          

���  68 15 

���� 
 

��@> 
���� 

�?� 

9 
12 
22 

2 
3 
4 

���  43 9 

���	���- 
 

��@> 
���� 

�?� 

15 
17 
13 

3 
4 
2 

���  45 9 
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���� ��� 10 (���) 

�� "��
 #��
$� 
���� �������($� 
����) ������������ ($� 
����) 

- #�� 
 

��@> 
���� 

�?� 

4 
8 
30 

1 
3 
7 

���  52 11 

-�/� 
 

��@> 
���� 

�?� 

1 
6 
9 

1 
2 
3 

���  16 6 

�����0 "�
  224 50 
 
 

  <�B�=�� 4  �D>����
��	���D>�$��
	>��������
��	�=�B��� ��!$>��<��    ��������
#� 
��
�������<�
���C �#��$���(����=��#(���PC����!$>��<�� <
����
��	� #�
 ���
��	��� 8 
#� &���
� ��	 ��������� 1 #�  �������JK�	������� 1 #� �������JK�	�D#���� 1 #�  !��
#������
� 5 #�   ��&���W��$���� 
 
 

���� ��� 11   <�� ��D>�$��
	>�$��
	>��!�>�$��������  (��>�	
&'�#�) 
 

�� "��
 #��
$� 
���� ������������ ($� 
����) ������������ 1/23"2#2��/�(4�) 

�'����� ��@> 
���� 

�?� 

4 
6 
5                          

32 
48 
40 

���  15 120 

���� ��@> 
���� 

�?� 

2 
3 
4 

16 
24 
32 

���  9 72 
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���� ��� 11 (���)         

�� "��
 #��
$� 
���� ������������ ($� 
����) ������������ 1/23"2#2��/�(4�) 

���	���- ��@> 
���� 

�?� 

3 
4 
2 

24 
32 
16 

���  9 72 

- #�� ��@> 
���� 

�?� 

1 
3 
7 

8 
24 
56 

���  11 88 

-�/� ��@> 
���� 

�?� 

1 
2 
3 

8 
16 
24 

���  6 48 

�����0 "�
  50 400 

 
3.2  ����1��������� 
 

�������	��B
&'��������	
����(���� (Exploratory research) =���D>��9�:�
�#;&���
�
<
��������������������
��	�

����
������
�����  � 	���
=#��#����� 
#����;

�#;&���
�
����(����!�������
#����;
�#;&���
�
���	��	��
8��
$����
�#����
 #��
�
�������<
���
 �
�#;&���
�<
��������������������
��	�

����
������
�������
������ ��	! �"�#�$�   !���9�:��� ��!��
&��	�
=�	��� ���������������������
��	�

���
�
������
������������� ��	! �"�#�$�   ����>�����
��	�<�� 
�?�   <�� ����   !��<�� 
��@> 
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3.3  
4�6�� �6�3��������� 
 


#���
���
=����������
�?�������<�
���#��B���B   
&'�!��&��
����������
������������
��	�

����
������
����� �(���� 1 X���    A9��!�>�

�
&'� 2 $
� #�
 
  $
�=��  1 !���
����
���	��������"�8=���C&<
���D>�$��
	>��   C �!�>       
������    !��<�� <
����
��	�   
&'�<�
#���!��
��
�$
� 
  $
�=�� 2  !���
����
���	���������������!���������&���(���	���<
�
������������
��	�

����
������
������������� ��	! �"�#�$�   �������	C �8�Y�������
�������<
�<��������#��!���D#����=������9�:�$����
�#P��������<��������#��!��
�D#����=������9�:� (�.#.�.)  �>���������9�:�

����!���������	=��
���	�<�
�����������
����������9�:�
�����   =�B���  42 <�
 !�>�
&'������������ 4  ��� 21 <�
  !���������
&���(���	��� 4  ��� 21 <�
  ��$>
C&��B   
    �����������   

1) ����D>������[=G�\  5 <�
 (<�
 1- 5) 
2) ���������=�� �  5 <�
  (<�
 6-10) 
3) ���8�Y��$�

� 6 <�
 (<�
 11-16) 
4) ���=(����
&'�=�� 5 <�
 (<�
 17-21) 

    �������&���(���	��� 
5)  �����
#����;!�����
#����; 5 (<�
 22-26) 
6) ������
���!����������  5 <�
 (<�
 27-31) 
7) ���8�Y�����	"�8�D#���� 6 <�
 (<�
 32-37) 
8) ���������	=���;  5 <�
 (<�
 38-42) 

    � 	���:P�!���
����
&'�!����$�&����P#>� 5 �� �� $��!��<
���
#��;= 

(Likert)  ��$>
C&��B 

�� �� 1 ���	�9�  �������������������
��	�

����
������
�����
	�>�� 
�� ����
	=���D    

�� �� 2 ���	�9�  �������������������
��	�

����
������
�����
	�>�� 
�� ����
	  

�� �� 3 ���	�9�  �������������������
��	�

����
������
�����
	�>�� 
�� ��&������   
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�� �� 4 ���	�9�  �������������������
��	�

����
������
�����
	�>�� 
�� �����   

�� �� 5 ���	�9�  �������������������
��	�

����
������
�����
	�>�� 
�� �����=���D    
  #�0�������-�2� 
4�6�� �6� 
  <�B�=�� 1  �9�:�

����!���������	=��
���	�<�
�����������������������
��	�


����
������
�����   
8��
������!��#� ��
�$��!&� 
  <�B�=��  2   �( ��� <
�
<$!�������!���
�������#�
�#�D�<
�
<$

�#;&���
�<
��������������������
��	�

����
������
�����  !���(�!���
����=��
�����
��?�
��	���
	!������
����	;=��&�9�:���=	���8�G;$���8����P�  !����(���&���&�D�!��C<
$��#(�!���(�<
�
����	; 
  <�B�=�� 3  �(�!���
����=��&���&�D�!��C<!���C&������=��#DP�DY�  �(���� 5 =>��  
A9��&���
�C& ��	    �������"�#����
������9�:�   
����	;&���(���<����������!������� ���
����9�:�
�����   !��
����	;=����&�������P;���������������9�:�
�����   
8��
$���=��
#���
������=�� ���
��B
��  "�:�  �(����   !��#���#�
�#�D�
���	����
���
�=���������	�9�:�  
� 	������$����
�#���$��$��
��B
��(Content validity)  ����#����
 #��
�����>��<�

#(�������&��
 ?����� (IOC) A9���(��� ������#�!�����8����P� ����B 
     +1  ���	�9�  ��#����
 #��
�   $�����
��B
�� 

0 ���	�9�  C�>!�>���>��
 #��
����
��B
�� 
     -1   ���	�9�   C�>��#����
 #��
����
��B
�� 
    �����B�8����P��������
#����;#���
=��	�$��$��
��B
��������&��
���<
�
���
���	���@  ��=��C �#�
=D�<�
#(������#>� ����#����
 #��
�$�B�!$> 0.5 <9B�C&  (&��P�  =
�#(�, 
2539 : 232) 	�
���<�
 2 
8�	�<�

 �	�=��C �$�(���>� 0.5 A9���������	C �&���&�D�!��C<�����#����� 
��
	���<9B�$��#(�!���(�<
����
���	���@ 
  <�B�=�� 4  �(�!���
����C&���
����	;=��&�9�:�8����P�
��#��B�   
    <�B�=�� 5  �(�!���
����=��C �C&�9�:��(��>
������D>�$��
	>��
8��
�����
#����;
&���
�
����(����  �(���� 100 #�  !����#>�#���
=��	�<
�!���
���� (Reliability) � 	��#>�
#����
 #��
�"�	��<
�!���
���� (Internal consistency) A9����<
����= �
�8��>��� 
#���
=��	� 
=>���� .927  
  <�B�=�� 6  =(������
#����;
�#;&���
�
����(����  � 	����&�!����(�
�?���&
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��
#����;<�
���=�����$� 
8��
�(����
�#;&���
�<
��������������������
��	�

����
�
�����
����� ����G���� ����B 
   ( 1)  �( �<� 
��������D> �$� �
	> � ������  
�#;&���
� ��	�� G�� �

�#;&���
�����  (Principal Component Analysis) !���( �
�#;&���
�=�� �� #> � C
!�� 
(Eigenvalue) 
��� 1 C&�����D�!��

�G�
�
� (Orthogonal)  ��	��G�����!��A; (Varimax) � 	
���
�Pp;#� 
��
�<�
#(����=����#>��B(�����
�#;&���
� (Factor Loading) $�B�!$> .50 <9B�C& �(����
$��!&���!$>��
�#;&���
�$�
���
	>����
	 3 $��!&�<9B�C&�9���
�>�
&'� 1 
�#;&���
� !��
8����P�#������	<
�<�
#(������!$>��
�#;&���
��>��
 #��
������
�!��#� �������	
���
C�> 
   (2)  $�B����

�#;&���
�<
�������� � 	8����P����<�
#(����=��
	�>��
!$>��
�#;&���
� 
   (3)  �������
 ���$�r��
�#;&���
�<
��������������������
��	�


����
������
������������� ��	! �"�#�$� 
   ��������
#����;
�#;&���
�
����(���� ����>����<���$�����(�
��
��
�����
#����;���(� ���� C& 
 

3.4  1������
4���"7� 47������
�� -����� 
 

�����
#����;
�#;&���
�
����(�������������	#��B���BC ������D>�$��
	>���(���� 
100 #� � 	�������	C ��(��� ������<�
���=��������
&'�$��!=���������<�
���C ����� #�
 ���������
���
��	�  �������JK�	�������  !���������JK�	�D#����  ������
��	�

����
������
�������
������ ��	! �"�#�$� !�>�

�
&'� 5 ������   C �!�>  ������ &F$$���  	���  ���G����  ��<��  
!���$�� #� 
&'���
	�� 25, 23, 20, 18,  !�� 14 $���(� ��  !��$��<�� <
����
��	� #�
  
���
��	�<�� 
�?�  <�� ����  !��<�� ��@> #� 
&'���
	�� 43, 36!�� 21 $���(� ��  
   ��<�B�$���>
������
#����;
�#;&���
�
����(����   �������	C �8����P��>�<�
���=��
�(������������� 
#����;��#���
������$��<�
$���
��B
�$��=���(�#�@<
������ 
#����;

�#;&���
�
����(�������
C�> � 	8����P����#>�$>��s #�
  #>�
�=���A;�����8��G; (Correlation 
Matrix)  8����P����$��!&����
�$C �#�
  $��!&����
�$C �$�
���#>�
<������ 1  !����#������8��G;
������  #>� ����C�
A
�;-C�
	
�;-

�#�� KMO and Bartlett's Test (Kaiser-Meyer-Olkin Measure 
of Sampling Adequacy)   !��#>� Bartlett's Test of Sphericity  A9�������8����P��� ����B 
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#>�
�=���A;�����8��G; (Correlation Matrix) 8��>�  $��!&�!$>��#�>��#>�
<������
��9�� !� ��>� $��!&�!$>��#�>��#������8��G;������  

#>� ����C�
A
�;-C�
	
�;-

�#�� KMO and Bartlett's Test (Kaiser-Meyer-Olkin 
Measure of Sampling Adequacy) 8��>� ��#>�
=>���� .908 A9����#>�
<��������9�� !� ��>� 
#������8��G;����>��$��!&����
�$C ����
������=����=(������
#����;
�#;&���
����  

#>� Bartlett's Test of Sphericity 8��>�  ��#������8��G;���
	>������	�(�#�@=��
���$� #�
 χ2(3160) = 3612.425, p< .001 !� ��>�
�=���A;���&����=G�\�����8��G;C�>
&'�
�=���A;


����:P; (identity matrix) $��!&���#������8��G;����������(�����
#����;
�#;&���
�C � 

  ����B�<�
����9���#���
������=��������(�����
#����;
�#;&���
� �����B�C �
�(�<�
�������� 
�#;&���
� ��	��G���
�#;&���
����� (Principal Component Analysis) !���(�

�#;&���
�=����#>�C
!�� (Eigenvalue) 
��� 1 C&�����D�!��

�G�
�
� (Orthogonal)  ��	��G�
����!��A; (Varimax) � 	���
�Pp;#� 
��
�<�
#(����=����#>��B(�����
�#;&���
� (Factor Loading) 
$�B�!$> .50 <9B�C& A9�����8����P��>�$��!&�� #��
	�>��
�#;&���
��   8����P����#>��B(�����

�#;&���
�
��� .30 (�D"���   
���D��$�,2551:111) �>���(����$��!&���!$>��
�#;&���
�$�
�
��
	>����
	 3 $��!&�<9B�C&�9���
�>�
&'� 1 
�#;&���
� !��C �8����P�#������	<
�<�
#(����
!$>��
�#;&���
��>��
 #��
������
�!��#� ���������	  

�������� 
�#;&���
� ��	��G���
�#;&���
����� C ��(����
�#;&���
� 
(Factor) #>�C
!�� (Eigenvalue) ��
	��#���!&�&��� (Percentage of Variance) !����
	��<
�
#���!&�&������� (Cumulative percentage of Variance)  ��$����=�� 12 
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���� ��� 12  #>�C
!�� ��
	��<
�#���!&�&���!����
	��<
�#���!&�&������� 

� 47������ 4��8���� 
�2����#� 4���

������� 
�2����#� 4���
�������-�-� 

1 20.460 48.715 48.715 
2 2.208 5.257 53.972 
3 1.756 4.180 58.152 
4 1.410 3.357 61.509 
5 1.341 3.193 64.702 
6 1.178 2.804 67.506 
7 1.058 2.507 70.013 

 
���$����=�� 12 
���
8����P�
�#;&���
�=����#>�C
!��
��� 1 8��>� ��=�B���  7 


�#;&���
� � 	��#>�<
�#���!&�&�������
=>������
	�� 70.013  
�������D�!������������ 
�#;&���
� �(���� 7 
�#;&���
� � 	��G����

��D�!��!��

�G�
�
� (Orthogonal rotation)  ��	��G�����!��A; (Varimax method) 
8��
���$��
!&����8��G;���
�#;&���
������:P�=���� 
��<9B�!����9�#� 
��
�$��!&�=����#>��B(�����

�#;&���
� (Factor loading) $�B�!$> .50 <9B�C& � 	C�>#(��9��>���
&'��(����������
�� 
&���W�� ��$����=�� 13 
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���� ��� 13  $��!&�=����#>��B(�����
�#;&���
�$�B�!$> .50 <9B�C&  

������ 
� 47������ 

1 2 3 4 5 6 7 

1 .607       
2    .537    

3        

4    .741    

5    .640    

6        

7  .621      

8  .598  .502    

9  .598      

10  .594      

11       .770 

12  .509      

13 .567       

14     .706   

15 .687       

16 .584 .505      

17  .686      

18  .800      

19  .607      

20  .668      

21  .818      

22 .642       

23 .689       

24 .534       

25 .622       
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$����=�� 13 $��!&�=����#>��B(�����
�#;&���
�$�B�!$> .50 <9B�C& ($>
) 

������ 
� 47������ 

1 2 3 4 5 6 7 

26 .710       

27     .799   

28        

29 .620       

30      .802  

31  .532 .167     

32   .666     

33   .667     

34   .676     

35 .512  .524     

36        

37 .591       

38 .668       

39 .681       

40   .581     

41 .782       

42 .536       

 
���$����=�� 13 #>��B(�����
�#;&���
�<
�$��!&�"�	���������D�!��

�G

�
�
�  ��	��G�!���!��A; =����#>��B(�����
�#;&���
�$�B�!$> .50 <9B�C& ���(����=�B���  7 

�#;&���
� � 	��
�#;&���
�=��$��!&���#>��(�����
�#;&���
�$�B�!$> .50 <9B�C& C�>�9� 3 $��
!&�  C �!�> 
�#;&��=�� 5 &���
� ��	$��!&�=��  14  !�� 27  
�#;&���
�=�� 6 &���
� ��	$��
!&�=�� 30   !��
�#;&���
�=�� 7 &���
� ��	$��!&�=�� 11   �>��$��!&�=�� 3, 6, 8, 16,  28, 35 !�� 
36 ��#>��B(�����
�#;&���
�C�>�9� .50 ���
��#>��B(�����
�#;&���
�����
#�	���������>���9��

�#;&���
�  ����B��������	�9�$� 
�#;&���
�!��$��!&� ����>��

�C&   !��=(������
#����;

�#;&���
���#��B�=�� 2 8��>���
�#;&���
�=����#>�C
!��
��� 1 =�B���  4 
�#;&���
� ��#>�<
�
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#���!&�&�������
=>������
	�� 68.271 � 	��$��!&�=�� 10, 24, 31, 32, 37, 38, 39,  !�� 41 ��
#>��B(�����
�#;&���
�����
#�	���������>���9��
�#;&���
�  ����B��������	�9�$� $��!&� ����>��


�C&   !��=(������
#����;
�#;&���
���#��B�=�� 3 8��>���
�#;&���
�=����#>�C
!��
��� 1 
=�B���  3 
�#;&���
� ��#>�<
�#���!&�&�������
=>������
	�� 66  � 	��$��!&�=�� 25 ��#>�
�B(�����
�#;&���
�����
#�	���������>���9��
�#;&���
�   !��=(������
#����;
�#;&���
���
#��B�=�� 4 8��>���
�#;&���
�=����#>�C
!��
��� 1 =�B���  3 
�#;&���
� ��#>�<
�#���!&�&���
����
=>������
	�� 65.609  � 	��$��!&�=�� 12 !��34 ��
�#;&���
�=�� 1 ��� 3 $���(� �� ��
#������	C�>�
 #��
����$��!&�
���s��
�#;&���
�
 �	����$������9�:�

����!���������	
=��
���	�<�
�   ����B��������	�9�$� $��!&� ����>��

�C&!��=(������
#����;
�#;&���
���#��B�=�� 5 
8��>���
�#;&���
�=����#>�C
!��
��� 1 =�B���  3 
�#;&���
� ��#>�<
�#���!&�&�������

=>������
	�� 67.235 ��	��

�	  ��$����=�� 14 

 
���� ��� 14  #>�C
!��!����
	��<
�#���!&�&������������$� $��!&�#��B�=�� 1-4 
 

������ 
4��8����#� � 47������ �2����#� 4���������� 

-�-� 1 2 3 4 

��
������4��0 ��� 1 
3, 6, 8, 11, 14, 16, 27, 28, 35 
!�� 36 

16.528 2.008 1.510 1.118 68.271 

��
������4��0 ��� 2 
10, 24, 31, 32, 37, 38, 39,  !�� 
41 

12.298 1.508 1.374  66 

��
������4��0 ��� 3 
25 

11.643 1.416 1.374  65.609 

��
������4��0 ��� 4 
12 !�� 34 

10.754 1.406 1.287  67.235 

 
���$����=�� 14 �����$� $��!&�#��B�=�� 4 !� �#>�C
!��<
�=�B� 3 
�#;&���
� 

A9��
�#;&���
�=����#>�C
!�����=���D #�

�#;&���
�=�� 1 !� ��>�
�#;&���
���B��#����(�#�@
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=���D  
8���������
G���	���
 9�#���!&�&���<
�<�
���C ����=���D  �
�����#�
 

�#;&���
�=�� 2 !�� 3 $���(� ��  

�������D�!������������ 
�#;&���
�#��B�=�� 4 �(���� 3 
�#;&���
� ��$��
!&�=����#>��B(�����
�#;&���
� (Factor loading) $�B�!$> .50 <9B�C& � 	C�>#(��9��>���
&'��(����
������
�� &���W�� ��$����=�� 15 
���� ��� 15  $��!&�=����#>��B(�����
�#;&���
�$�B�!$> .50 <9B�C&�������
#����;#��B�=�� 4 

������ 
� 47������ 

1 2 3 

1  .578  
2   .620 

4   .726 

5   .740 

7 .604   

9 .609   

13  .640  

15  .736  

17 .730   

18 .818   

19 .657   

20 .696   

21 .860   

22  .713  

23  .736  

26  .690  

29  .797  

33   .535 

40   .762 

42   .699 
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���$����=�� 15 
���
��D�!��

�G�
�
� (Orthogonal)  ��	��G�����!��A; 
(Varimax) =�B� 4 #��B� 
8��
��
�#;&���
��������������������
��	�

����
������
�������
������ ��	! �"�#�$� � 	8����P�#� 
��
�#(���� ($��!&�) =����#>��B(�����
�#;&���
� (Factor 
loading) $�B�!$> .50 <9B�C& �(����$��!&���!$>��
�#;&���
�$�
���
	>����
	 3 $��!&�  �9���
�>�

&'� 1 
�#;&���
� !��#������	<
�$��!&���!$>��
�#;&���
��
 #��
����!��#� ���
����	    ����B���������
#����;
�#;&���
�#��B���B=(����C �
�#;&���
�=�B���B� 3 
�#;&���
�  
A9��&���
� ��	$��!&� ����B 


�#;&���
�=�� 1 �� 7 $��!&� #�
 $��!&�=�� 7, 9, 17, 18, 19, 20 !�� 21 

�#;&���
�=�� 2 �� 7 $��!&� #�
 $��!&�=�� 1, 13, 15, 22, 23, 26  !�� 29 

�#;&���
�=�� 3 �� 6 $��!&� #�
 $��!&�=�� 2, 4, 5, 33, 40 !�� 42 

 
� 	!$>��
�#;&���
�����	��

�	 <�
#(����!��#>��B(�����
�#;&���
�&���W

 ��$����=�� 16, 17 !�� 18 
 
���� ��� 16  #>��B(�����
�#;&���
�<
�$��!&���
�#;&���
�=�� 1  

���
��� 

#2�4��� 
�0��"���

� 47������ 

21  
=>�������
����!��  ����(�������>�
���� ������D�
8��
��>����������
&W���$����C � 

.860 

18  
=>�����������#����>����
�>�	
���
 ������D�
8��
��>�����
8��
������
����D$��
&~����	C �  

.818 

17  
=>�����������!��
8��
&W���$����
&'�=��� 		9 ����������>���>��(��
�
)���
8��
��>�����C � 

.730 

20 =>��������&���$��
<������������P;!����D>�#�=���������	C � .696 

19 =>��������!� ��=��=����(����
���$��C � .657 

9 =>�������������#���89�8
�����!�>������������C � .609 

7  
=>��������9�:�#���$�
����!���� ������������������8�B�r��<�
���
<
�#���$�
����=��!=�����
8��
���
�� &���	��;����D  

.604 
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���$����=�� 16 
�#;&���
�=�� 1 �� 7 #(���� ($��!&�) ��#>��B(�����
�#;&���
�

	�>����>�� .860 - .604 
��	����

�#;&���
���B�>� 4���-��9��	7���1/2�6��  &���
� ��	$��!&�
 ��$>
C&��B =>�������
����!��  ����(�������>�
���� ������D�
8��
��>����������&W���$����C �
($��!&�=�� 21) =>�����������#����>����
�>�	
���
 ������D�
8��
��>�����
8��
����������D$��

&~����	C � ( $��!&�=�� 18) =>�����������!��
8��
&W���$����
&'�=��� 		9 ����������>���>��
(���
)���
8��
��>�����C � ($��!&�=�� 17) =>��������&���$��
<������������P;!����D>�#�=��
�������	C � ($��!&�=�� 20) =>��������!� ��=��=����(����
���$��C � ($��!&�=�� 19) =>��
�����������#���89�8
�����!�>������������C � ($��!&�=�� 9) !��=>��������9�:�#���$�
����
!���� ������������������8�B�r��<�
���<
�#���$�
����=��!=�����
8��
���
�� &���	��;����D 
($��!&�=�� 7)  

 
���� ��� 17  #>��B(�����
�#;&���
�<
�$��!&���
�#;&���
�=�� 2 

���
��� 

#2�4��� 
�0��"���

� 47������ 

29 
=>�����������
����>�����

=#����	�
8��
����������� ������
��	�C � 

�>�  �������=���8=;�>�<�
#����
����	���!�>�D#����   ������-�>� 
������
������

�C��; 
&'�$�� 

.797 

15 
=>����#��������������$� $��<>����� ���
 
=#����	�=��=�����	C � 

�>� ����&�������8��G;

�C��;=�� Internet , e-mail  
&'�$�� 

.736 

23  
=>�����������
#����;!���� =(�!��	D=G���$�;<
����
��	��� ���
$>��sC �   

.736 

22  
=>����������
#����;�"�8 &F@�� #���$�
���� 
8��
�� =(���	��	!��
���!��������������
��	�C �  

.713 

26 
=>�����������!��#� 
������������!��&F@�����
8�Y������� ���
$>��sC � 

.690 
 

13  
=>���9�:� #��#�����#������=�� �������� #��������������8!��#������
=���C&  
8��
8�Y��#���������<
�$�

� 

.640 

1  
=>�����������!�����&W���$����������=��C ��
 #��
����
&~����	
<
����
��	�C � 

.578 
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���$����=�� 17  
�#;&���
�=�� 2 �� 7 #(���� ($��!&�) ��#>��B(�����
�#;&���
�

	�>����>�� .797 - .578   
��	����

�#;&���
���B�>� ������ 1�-��:�	�; &���
� ��	$��!&�
 ��$>
C&��B =>�����������
����>�����

=#����	�
8��
����������� ������
��	�C � 
�>�  ������
�=���8=;�>�<�
#����
����	���!�>�D#����   ������-�>� ������
������

�C��; 
&'�$��($��
!&�=�� 29) =>����#��������������$� $��<>����� ���
 
=#����	�=��=�����	C � 
�>� ����
&�������8��G;

�C��;=�� Internet !�� e-mail  
&'�$��($��!&�=�� 15)=>�����������
#����;
!���� =(�!��	D=G���$�;<
����
��	��� ���$>��sC �  ($��!&�=�� 23) =>����������
#����;�"�8 
&F@�� #���$�
���� 
8��
�� =(���	��	!�����!��������������
��	�C � ($��!&�=�� 22) =>��
���������!��#� 
������������!��&F@�����
8�Y������� ���$>��sC � ($��!&�=�� 26) =>��
�9�:� #��#�����#������=�� �������� #��������������8!��#������=���C&  
8��
8�Y��
#���������<
�$�

� ($��!&�=�� 13) !��=>�����������!�����&W���$����������=��C �
�
 #��
����
&~����	<
����
��	�C � ($��!&�=�� 1)  
 
���� ��� 18  #>��B(�����
�#;&���
�<
�$��!&���
�#;&���
�=�� 3 

���
��� 

#2�4��� 
�0��"���

� 47������ 

40 
=>��������&���
&���	�����	=���;���
������������#��D����!��
�"�8���#�=��
&���	�!&�� 

.762 

5 
=>�������$� $�����<
����
��	����C �����8G;$��
&~����	=�����
C�� 

.740 

4 =>�������&���&�D�8�Y�����&W���$���������#DP"�8
	>��$>

���
� .726 

42 
=>�����������������	=���;=����#���
&'���&G���  ���
���
���
�(�
�?�C ����� 

.699 

2 =>����#����D>����� ���$�
��
���  �����&W���$�����������D$��!�� .620 

33 
=>��!������
������
!��=��8�Y��#���������<
��D#����

	�>
��
 

.535 

 
���$����=�� 18 
�#;&���
�=�� 3 �� 6 #(���� ($��!&�)  ��#>��B(�����
�#;&���
�


	�>����>�� .762 - .535 
��	����

�#;&���
���B�>� �������-����<�7 &���
� ��	$��!&� ��$>
C&��B 
=>��������&���
&���	�����	=���;���
������������#��D����!���"�8���#�=��
&���	�!&��($��



91 

 

!&�=�� 40) =>�������$� $�����<
����
��	����C �����8G;$��
&~����	=�����C��($��!&�=�� 5) =>��
�����&���&�D�8�Y�����&W���$���������#DP"�8
	>��$>

���
� ($��!&�=�� 4) =>�������������
����	=���;=����#���
&'���&G���  ���
���
����(�
�?�C ����� ($��!&�=�� 42) =>����#����D>����� 
���$�
��
���  �����&W���$�����������D$��!�� ($��!&�=�� 2) !��=>��!������
������

!��=��8�Y��#���������<
��D#����
	�>
��
($��!&�=�� 33)  

 
���� ��� 19  !� �#>�#���
���
���� (Reliability) <
�!$>��
�#;&���
� 


�#;&���
� #>�#���
���
���� 
1 .920 
2 .915 
3 .874 
��� .953 

 
���$����=�� 19 �������
#����;#>�#���
���
���� (Reliability) <
�
�#;&���
�

� 	��� 8��>� ��#>�
=>���� .953 
���
8����P�
&'���	
�#;&���
� 8��>� 
�#;&���
�=�� 1 2  !�� 
3 ��#>�
=>���� .920 ,  .915 !�� .874 $���(� �� A9��=�B��� ��#>�
<������ 1 !� ��>� ��#>�#���
���
����
���  

���������B��������	�(��������
#����;
�#;&���
�
����(����=��C ��(���� 3 

�#;&���
� 20 $��!&�  ����>�����������
 ����$�r���������������������
��	�

����
�
�����
������������� ��	! �"�#�$�    ��"�8&���
�=�� 7 

 
 
 
 
 
 
 
 
 
 



92 

 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

H1 

H 7 

H 6 

H 5 

H 4 

H 3 

H 2 

H 14 

H 13 

H 12 

H 11 

H 10 

H 9 

H 8 

H 15 

H 20 

H 19 

H 18 

H 17 

H 16 

A1 

A3 

A2 

=�9��������� 3  ��
 ����$�r���������������������
��	�

����
������
�������    
������ ��	! �"�#�$� 
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    ���"�8&���
�=�� 2 ��
 ����$�r��
�#;&���
��������������������
��	�


����
������
������������� ��	! �"�#�$�  &���
� ��	
�#;&���
� 3 
�#;&���
� 20 
$��!&� C �!�> 
�#;&���
�=�� 1 #������8��G;������
��� (A1) &���
� ��	$��!&����
�$C �  7 $��
!&� #�
 H1-H7 
�#;&���
�=�� 2 ����D>������[=G�\ (A2) &���
� ��	$��!&����
�$C � 7 $��!&� 
#�
 H8-H14 !��
�#;&���
�=�� 3 ���������	=���; (A3) &���
� ��	$��!&����
�$C � 6 $��!&� #�
 
H15-H20 
 
3.5  ���
�>�������#2��/� 
 
   �������	�����
�?�������<�
������������	 ����B 

   3.5.1  �������	=(����=9�<�
#����9���Pp�$�9�:� ��=	���	
������9�:� 
8��
<

������
<
#����>����
�����$
�!���
����������
��	�=��
&'���D>�$��
	>�� 
      3.5.2  �������	=(����
�?�������<�
��� ��	$�

� 
8��
�
����#���#� 
�?�<
�
��D>�$��
	>�� � 	�����	�
��������
�?�������<�
��� !�>�
&'� 2 �>��#�
  
      �>��=�� 1 $�B�!$>���=�� 12 �����#� 2553 �9����=�� 10 $D��#�  2553  �(���� 
100  �D   C �!���
��������#���(���� 100 �D  #� 
&'���
	�� 100  
8��
��
#����;&���
�
���
�(����  
     �>��=�� 2 $�B�!$>���=�� 1 G����#� 2553 �9����=�� 10 ����#�  2554  �(���� 
400  �D   C �!���
��������#���(���� 100 �D  #� 
&'���
	�� 100 
8��
��
#����;&���
�
���
	��	��   
  3.5.3  =(����$����
�#������$�
������P;<
����$
�!���
����   
  3.5.4   (�
��������
#����;<�
��� ��	#
�8��
$
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3.6  �����
4���"7#2��/� 
 
  �������	��<�B�$
������ (�
�����������
#����;<�
��� ����B 
 

3.6.1  �����
4���"7#2��/�������-��?��1/2���"��$� 
����
����-��<�-����-���3�
�� "��
����
�=�43�2���8
2������������� 
4�6�� �6�����������
4���"7� 47������
�� -����� 

�������	��
#����;<�
������!���
����
���	����
�#;&���
�<
��������
������������
��	�

����
������
������������� ��	! �"�#�$�  � 	��<�B�$
� ����B 
    3.6.2.1   ��
#����;
�#;&���
�
���	��	�� (Confirmatory Factor Analysis) 

�����
#����;
�#;&���
�
���	��	�� � 	����&�!��� LISREL 8.30 
8��

$����
�#����
 #��
��������<
���
 ����$�r��
�#;&���
�<
�����������������
���
��	�

����
������
������������� ��	! �"�#�$����<�
���
���&�����:; � 	<�B�$
���
���&��
���#����
 #��
�<
���
 � $�
�$����
��>�#>�8�����
$
�;=��&����PC ���#���
��
�$D�������
C�> 
&'�C&$��=[:��=��#� �������
C�> � 	���8����P�#>����$�
8��
�
�#���
�
 #��
�<
���
 � ��	���$�$>��s (�
���� �
��,�.&.&.: 5-6)   ����B 
        �. ���= �
� 2χ  
&'����= �
�#����
 #��
�$����&!��=[:��=��
�������	�����<9B����<�
���
���&�����:; ���#>� 2χ ����	�(�#�@=�����$� !� ��>���
 �=�������<9B�C�>
�
 #��
����<�
���
���&�����:;  ���#>� 2χ ������= �
�C�>����	�(�#�@=�����$� !� ��>� ��
 �
��#����
 #��
�$��=[:�������!��<�
���
���&�����:; 
            <.  ������ �� ��#���������� (Goodness of Fit Index : GFI) ��#>�
����>�� 0-1 #>� ���� GFI 	���
<������ 1 !� ��>���&!��$��=[:����#����
 #��
������&!��
���
&�����:; 
        #.  ����#����������=��&���!��!��� (Adjusted Goodness Residual : 
RMR ) 
&'����
&��	�
=�	�#����������<
���&!��
���&�����:;�����&!��$��=[:�� ���� 
RMR 	���
<������ 0 !� ��>���&!��$��=[:��	�����#���������������&!��
���&�����:; 
        �. ���
A?�=���C#�!#��; (Non-centrality parameter : NCP) 
&'����$�=�����
= �
�#���
=��	�$��<
���&!�����
#������������#>�
&'� 0 ���#>� NCP ��#>������&W�
�G
���$�r��!� ��>���&!��$��=[:��C�>�
 #��
������&!��
���&�����:; �����#>���
	��	
����
���$�r��!� ��>���&!����#���
=��	�$�� 
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                X. #>�����(�����
�<
�#>�
X���	!$�$>��� 	&����P (Rootmean square 
error of approximation : RMSEA) 
&'����8�Y����$�=�������
8���8�����
$
�;
����=(����#>����$���
#>�� �� 
8���#>����$���B<9B�
	�>��� df �����#>������&W�
�G���$�r��!� ��>���&!��C�>�
 #��
�
�����&!�����
<�
���
���&�����:; 
      �.  ���� NFI , NNFI, CFI, FFI !�� RFI ����(�����
&��	�
=�	���&!��
$��=[:���>���#����
 #��
������&!��
���&�����:;�����
	
8�	��   ��#>�����>�� 0-1 #>�	���
<��
���� 1 ��
 �	�����#����
 #��
������� 
    3.6.2.3 �����
#����;<�
�������9�:��� ��!��
&��	�
=�	��� ���������
������������
��	�

����
������
������������� ��	! �"�#�$�  � 	��#>���
	��  #>�
X���	

�<#P�$ (Χ ) !��#>�
���	�
����$�r�� (S.D.) � 	!�>��>��<
�#>�$������
�<#P�$ 5 ��D>� �����
!&�#������	 � 	���
�Pp;<
��D@��   �����
�  (2535:100)  ����B #�
  

1.00-1.50  ���	�9�  ���������������������� ����
	=���D  
1.51-2.50  ���	�9�  ���������������������� ����
	 
2.51-3.50  ���	�9�  ���������������������� ��&������ 
3.51-4.50  ���	�9�  ���������������������� ����� 
4.51-5.00  ���	�9�  ���������������������� �����=���D   
 

  -?������3�23������
4���"7#2��/�  
�.  #>�#������!��#>���
	�� (Percentage) 

�(�<�
������!���
����  $
�=�� 1 ��!��!��#������ !����
#����;#>�
��
	�� !����(�
��
����&!��#���
��	� 

<.  #>�
X���	
�<#P�$ (Arithmetic mean)  
�(�<�
������!���
���� $
�=�� 2 ��!��!��#��������#>�
X���	
�<

#P�$ (Χ ) ��#>�$������  
#.  #>�
���	�
����$�r�� (Standard deviation)  

     �(�#>�
X���	
�<#P�$  !$>��<�
���� ��������	<
�#�!�� !������
<��
��>�>������� 	��#>�
���	�
����$�r��<
�!$>��<�
 

�. ��
#����;#���!&�&���!��=��
 �	� (One-Way ANOVA) ��������

&��	�
=�	�#���!$�$>��<
���D>�$��
	>��=�������>� 2 ��D>� 
 


